MATH 2253 PRACTICE TEST 2 SUMMER 2016 ANSWERS
Note:  If answers require more explanation send an e-mail to derekwesty@aol.com 

You will be given grids on which to sketch the graphs

1.  Find the derivative of each of the following functions:
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(c)  
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2.  Find the second derivative of each of the following functions.
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4.  
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(a) Locate all critical values

Find where the derivative is zero (or undefined, which does not apply here).
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Critical values are (2 and 0

(b) Find the open intervals on which f is increasing or decreasing
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Decreasing on 
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(c) Identify all relative extrema.


Maximum at 
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Maximum is (–2, 0)


Minimum at 
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Minimum is (0, –4)

(d) Find the open intervals on which the graph of f is concave up or concave down.



[image: image20.wmf]''()66

=+

fxx




Find where the derivative is zero (or undefined, which does not apply here).
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Concave down on 
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(e) Identify the point of inflection.

Point of inflection at 
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Point of inflection is 
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--


(f)  Sketch the graph of  
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5.  Find all asymptotes of 
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First note that the function cannot be reduced.

Vertical asymptotes:  
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The vertical asymptotes are x = 4 and x = ​–4

Horizontal asymptote: 
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Also,  
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The horizontal asymptote is 
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6. 
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(a)  Find all intercepts

x-intercepts:  Solve 
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y-intercept:  
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(b) Locate all critical values

Find where 
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(c) Find the open intervals on which f is increasing or decreasing

Mark where
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(d) Identify all relative extrema.

Minimum: 
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  Maximum:  
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(e) Find the open intervals on which the graph of f is concave up or concave down.

(f) Identify any points of inflection.

None

(g)  Find all asymptotes


[image: image58.wmf]2,1

xyx

==-


(h) Sketch the graph of f(x)
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7. 
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(a)  Find all intercepts
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(b) Locate all critical values
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(c) Find the open intervals on which f is increasing or decreasing

Decreasing 
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(d) Identify all relative extrema.

Minimum: 
[image: image65.wmf]2

(0,)

3


(e) Find the open intervals on which the graph of f is concave up or concave down.

Concave down: 
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    Concave up:  
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(f) Identify any points of inflection.
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(g)  Find all asymptotes
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(h) Sketch the graph of f(x)
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You have to use the product rule on each term.
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